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5 T8 T¥F @3‘7 T T ¥ & — 5. This question booklet is divided

6. TVE-7 ¥ 70 FgAS wvw & 6

|

TUT- U5 JUET-§F/

f5=7 @ fF=27 35 Uyl &1 I7 37
Ffvard &1 35 v T SfE T
3T &7 W FUH 35 FT & qgodied
T TEE & [T 1 3% fuia &
TTF 3T 37 & fow Ivey &
T OMR 3W-9FF ¥ T 7w wat
TEsg ¥ At / wIA & 9T T
rTe F11 fEE Wt T & wWEEAw
/ AT URTR/ ®HE / G AT I

OMR J97-UN® X WQNT FTAT W4T
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. ®vT - T § 20 7y AW W T

§ | g & g 2 s AR &
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6 Tr FiT wvw a7 K y9E
F w5 % fuika & 979 @
f&=%7 3 gyl ®T IAT T AfAAS
¥

. fFEG FR F THagiaE IUET F 8.

T qorAaT afere &

[323]

into two sections — Section-A and

Section-B.
In Section-A, there are
70 objective type questions,

out of which any 35 questions
are to be answered. If more than
35 questions are answered, then
only first 35 will be evaluated.
Each question carries 1 mark.
Darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener /
liquid / blade / nail etc. on OMR
Answer Sheet, otherwise the
result will be invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which
any 10 questions are to
be answered. Apart from these,
there are 6 long answer
type questions, each carrying
5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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w|ug - A / SECTION - A
TS vH / Objective Type Questions

mﬁw1ﬂ7om$mm$%rqwfwmfzqnqi,fwﬁ
A w @ ¥ 1 o gRT R U W frwed ® OMR vie W fafe w0
O 35 AT F I AT | 35 x1=35

Question Nos. 1 to 70 have four options, out of which only one

is correct. You have to mark your selected options on the
OMR sheet. Only 35 questions are to be answered. 35x1=235

1. tar guen sl w8 an i w2
45F 1986 (B) 1988
(C) 1992 (D) 1995
When was Environment Pro-tection Act implemented ?
a) 1986 B 1988
(C) 1992 : (D) 1995
2. wEuE FETE R fRmd 7
(A) E ' (B) TSRYN
(C) iieh (D) TR

t

~ Kakrapara is situated in which state ?

(A) Goa (B) Rajasthan
(C) Karnataka (D) Gujarat
24 /A [ XI1-5006-(33/40) Page 3 / 32
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3. waigdwmi oo

(A) W & (B) e &=

(C) = &3 (D) W &

What is Mumbai High ?

(A)  Coal area (B) Petroleum area

(C)  Copper area (D) Mica area
4. W EEH o et wig ¥

(a) e ¥ forg

(B) uferEm & fam

(C) g e & forg

D) I & foe

Baba Budan hills are famous for

(A) Coal (B)  Petroleum

(C) lron ore (D) Mica
5. fPedashdftsamismftoad o

(a)  fimw (B) W

(C) T /m wew

Which of the following is a leading state in sugar production ?

(A) B_ihar (B) Maharashtra

(C) Gea | (D)  Uttar Pradesh

24 /A [/ XII-5006-(33/40) Page 4 / EE
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6. aere frE Usa A afRm ® 7

(a) T (B) WEIE
_ Ay T (D)  ufFEm S
Vadodara is situated in which state ?
(A) Goa (B) Maharashtra
- (€) Gujarat (D) West Bengal

7. e aufmowit?
(A) TR B) T
() Eamm (D) wAEH
Harike barrage is in which state ?
(A) Rajasthan ~ (B) Punjab
(C) Haryana (D) Karnataka
8. Wi o e 2
() o H ‘ (B) ufvem smet #
(C) ¥ H (D) dfterTg ®

Kochi port is situated in

(A) Gujarat (B) West Bengal
(C) Kerala (D) Tamil Nadu
24 /A [/ XII-5006-(33/40) Page 5 / 32
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9. 2011 N FAH F IR WA hl FHEEH B
AYT 121 WU (B) 125

(C) 130 %3 (D) 135S

According to 2011 census, the population of India is

(A) 121 crores (B)- 125 crores

(C) 130 crores (D) 135 crores
10. 2011 ¥ YRa # 7 SaE o

(A)  31.16 Sidwd __{By—30 Wiewe

(C) 35 wfawa | (D) 40 whawe

Urban population in India in 2011 was

(A) 31.16 per cent (B) 30 per cent

(C) 35 per cent (D) 40 per cent
11. s 1 @=4 2 -

(A) TSHUN A (B]  UrEYesd @

(C) HE AR A (D) argant @

Gibraltar is related to

(A) Roadway ‘ (B}  Pipeline

(C) Sea route (D) Airway

24/ A X11-5006-(33/40] Page 6 / 32
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12, wra # 2011 & wf¥en e gad F9 A
) farm d (B) BTG H
(C) W= Weu H (D) 9R@UE H
The.lowe.st female literacy in India in 2011 was in
(A) Bihar (B) Chhattisgarh
(C) Madhya Pradesh (D) Jharkhand
13, e gafa R |
(A) &R B) Td
€ =3 ‘(D) FEAH
Robusta is associated with
(A) Rice (B) Sugarcane
(C) Tea (D) Coffee
14, TN SR
(A) HIE I B) ==
© ™A (D) ¥ & W T
Narma is a‘ssociated with
(A) Cotton (B) Tea
(C) Wheat (D) None of these
24 /A /XII-5006-(33/40) Page 7 / 32
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16.

17.

e wde wE R ¢
(A) W B) f=
€) gamE (D) AR

Where is Port Said ?

() Morocco B Egypt
(C) Portugal (D) Algeria
Fr=fafes d w9 s © wourt & 2

(a) R | (B) ¥F=w
(S (D) A

Which of the following is the capital of Australia ?
(A) Sydney (B) Canberra

(C) Perth (D) Melbourne
e e JemTt Thy Teew ¥ wEfm @ v

I C B

(C) 3T (D) Iodt AT

[32

The Great Lakes waterway is associated with which continent ?

(A) Europe (B) Asia
(C) Africa ) (D)  North America
__--"""J}
24 /A /X11-5006-33740) Page 8 / 32,
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18, fr= § ®\ & g gEen # 7

(A) 3T (B) W i FH
(C) Tfer w&i Dy T @ oot
Which of the following is an urban problem ?
(A)  Air pollution (B)  Scarcity of drinking water
(C) Slum (D)  All of these
19. HICTEH) TREIT Fal & ?

(A) R (B)  anhre d

€ R (D) e fer &
Where is Kalahari desert ?

(A) In Asia (B) In Africa

(C) In-Europe (D) In Australia

20. Tufem < teurh 2

() feEg (B) %I
©) Rrem by T

The capital of Sikkim is

(A) Dispur (B) Imphal
(C)  Shillong (D) Gangtok
32 ' 24 /A /XI1-5006-(33/40) Page 9 / 32
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21, domden s AR o

(A} SR (B) TeUd
(C) ¥&w W (D) 7T
Bailadila is in which state ?

(A} Chhattisgarh (B) Gujarat

(C)  Madhya Pradesh | (D) Goa
22. ﬁnﬁﬂaﬁqmmﬁmm% 7.

(A) T Ry (B) WERIY

(C) I W (D)  37&w

Which of the following is the leading state in bajra production ?

(A} Madhya Pradesh (B) Maharashtra
(C) Uttar Pradesh (D) Assam

23.  fomr wfag @
(A) e % forg (B} % forg
(C) dfar % fo (D) W % fag
Digboi is famous for
(A) [ron (B} Petroleum
(C) Copper (D)  Silver

24 /A / X11-5006-(33/40)
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29.

26,

(A)

(€)

A ® o e e | st T R 7

FEUE By~ anfEm
ufyaq e (D) faEw

13

Which of the following is the leading state in Mica production ?

(A)

(©)

(A)

(€)

Jharkhand (B) Odisha

West Bengal (D) Bihar

e R e B R 7

T o (B) IW Vel H

TR | (D) mar#

Rawatbhata is in which state ?

(A)

(C)

(C)

Rajasthan (B) Uttar Pradesh

Gujarat _ (D) Goa

g § 4 o S w5 e W R 7
st (B) =t WR®

99T FAl (D) g St

Which one of the following is a non-renewable source of energy ?

(A)

(C)

Solar energy (B} Hydel power

Wind energy | (D) Thermal power

23]
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27.  WHR WR TR ) v R ad g ot 7

A 1964 F B) 1965 %

(C) 1966 % (D) 1984 H

In which vear was Bokaro steel plant established ?
(A) 1964 (B) 1965
(€C) 1966 (D) 1984
28.  WRA % wuw gt v o o wal g ot 7
(A) RIS (B) T
€ wat (D) Y7ET
Where was the first cotton mill estaﬁ]ishcd in India ?
(A) Kolkata (B) Gandhinagar

(C) Mumbai (D) Dhanbad
29. Pmdadshama Rem wrammm R 7

(A) T I (B)  &wHar IUTH

(C) el YT (D) 39 9§ ufi

Which of the following is an approach to human development ?

(A) Income approach (B)  Capability approach
(C)}  Welfare approach (D)  All of these
24 /A /XII-5006-(33/40) Page 12 / 32
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30. fim# @ #1 gdtaes fraean & aafa 2 2
@A) TH B “gamd
(C) W TEER (D) FECIAM
Which of the following is associated with tertiary activity ?
(A) Mining (B) Services
(C) Food grocessing (D) Cottage industry
31. WG ITET 8
(A) HOIfEE PR B) Tiftm s«
(C) THhet W H (D) ¥ & P T
Kolkhoz is an example of
(A)  Collective farming (B) Mixed farming
(C) Monoculture (D) None of these
32. R & wft wEfa g
(A) HHET & |
B) Y& w
(C) WHErE &3 8
iy 3 e 4w @
24 /A/xu-soos-{asm, Page 13 32
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Viticulture is related to

(A) Monsoon region
(Bl  Polar region

(C)  Mediterranean region

(D)  Tropical region
33. PaggiifrmpgmmeafRad ¢

(A) TG IS (B) TR

(C) ST Iy (D) &3 IW

Chewing gum is related to which of the following treas ?

(A) Palm tree (B) Date tree

(C) Zapota tree (D)
34. T s S i fREd 2

Rubber tree

(A) A B) W fweA
(C) »™ (D) i
Where is Sheffield industrial centre situated ?
(A) China (B) Great Britain

(C) France (D) Germany

24 /A / XII-5006-(33/40)
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35. AT e H T feadt R 7

(A) 60 freri (B 72 e

(€) 50 feratex (D) 160 frendfiex

What is the length of the Panama Canal ?

(A) 60 km | (B) 72 km

(C) 50km (D) 160 km
36. g8q ¢ AT wEfa 8

A) W& T A

(B) AT TR &

€) Iull ewies wyf uvi |

(D) T & B T

Big Trunk Route is associated with

(A) Suez Canal

(B) Panama Canal

(C) Northern Atlantic Sea Route

(D) None of these

24/A/XI11-5006-3/40 Page 15 / 32
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37.

38.

39.

[323]

[ A e R
(A)  weA-afelw (B) afia-tRa
(€t WRy-weA (D) ¥ § & TE

Channel tunnel connects
(A)  London-Berlin (B) Berlin-Paris

(C)  Paris-London (D)  None of thegé
TN F ST hY T F S ot 7 |

(A} 1948 (B) 1950

(C) 1951 (D) 1960

When was the Atomic Energy Commission established ?
(A) 1948 (B) 1950

(C) 1951 (D) 1960

HRHAR ( ASEAN ) T AT Fal & 7

(A)  Seral (B) afwar

) Fgt By fam

Where is the headquaters of ASEAN ?

(A) Jakarta (B) Tokyo
(C)  Delhi (D) Vienna
24/3;’)(”—5006*{33}40] Page 16 / 32
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40 I (NAFTA ) SRR @ 1 @y
(A) 390 amfew @ B) IR H
c Rernd (D)  smeferan |
NAFTA regional bloc is associated with
(A) North America (B) Africa
) Asia (D) Australia

41, JAHER S ST I S

(A) ¥E % @ B S
(C) T HUE (D) ¥ ¥ HIg A&
Circular pattern of settlement is found along
(A) Lake (B) River
(C) Coast (D) None of these

42, S YEA FE 8 7
(A) TG (B) %i®
(C) mmh D) e
Where is Dover port ?
(A) England (B) France
(C) Denmark (D) Sweden

24/ A/ XI1-5006-(33/40) Page 17 / 32
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43. B= A ¥ IR il i w1 g TE R 2
A TN e
(B) Gﬁu‘tﬁaswfﬁa
(€ WA it
D) & i

Which of the following is not a subfield of Economic Geography ?
https://www.bsebstudy.com

(A)  Geography of agriculture

!

(B) Industrial geography
(C)  Geography of tourism
(D) Military geography

44, mﬁm@mﬁmmm%mmé ?
—

(C) ¥Ra (D) ==

14 (B) A=

Which country ranks first in the Human Development Index ?

(A) Norway (B) Canada
(C} India (D)  China
24 /A /XII-5006-(33/40) Page 18 / 32

https://www.bsebstudy.com



(323 |
45. ﬁﬂﬁﬂmmm?ﬁ% 7
AT (B) fabmio

) ST (D) Féw IEm

Which one of the following is not a secondary activity ?

(A) Hunting (B) Manufacturing

(C) Processing (D) Cottage industry
46. TH BN & T

(A) FH (B) T3

(C) =Ewd o) MR

Truck farming is associated with

(A) Flowers (B) Vegetables

(C) Rice (D) Wheat
47. 0T | T FAT WA B ?

(A) O I AGH B) &

(€) TS (D) ¥ A PR T

What do you mean by prairies ?

(A)  Grassland (B) Forest
(C) Desert _ (D)  None of these
24 /A /XII-S006-(33/40)
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a8, = d @ =5 ghe s sam T @ 2

(Al dtET I

B) Hhie 3um

(C} el WE TG I
(D) g T\’ I

Which of the following is not a mineral-based industry ?
(A) Copper industry

(B} Cement industry

(C) Iron and Steel industry

(D)  Cotton textile industry

49. A8 @ FOIE IAT B

(A)  URYE 3T
(B) esc IA
(C) HIR IaOm

(D) B WA =1 I

Iron and Steel industry is
(A) Basic industry

(B) Footloose industry
(C) Cottage industry

(D) Small scale industry

24 /A /[ XII-5006-(3a/40)
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50, TETHICHT WA I &7 rafedd @
(A) ToE (B) 3@ H
(C) TRAM H (D) wERTg |
Naharkatiya minoral oil field is located in
(A)  Gujarat (B) Assam
(C) Rajasthan (D) Maharashtra
51. WG i GEQ " TH FoEnt B 8 ?
(A) TEH ST S 1
(B) T SemW &A1 2
(C) g Femm ¥ 3
(D} e He 4
P
Which is the longest national waterway in India ?
(A) National Waterway No. 1
(B) National Waterway No. 2
(C) National Waterway No. 3
(D) National Waterway No. 4
24 /A [ XII-S006-(33/40) Page 21 / 32
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52, TN T R 76 w fRea } 2
(A)  wTEE (B) IR
C) T ' (D)
Mormugao port is situated on which river ?
(A)  Mandavi (B) | Zuari
(C) Narmada (D) Krishna
53. Fedashy-smgumat ¢
(a)  Taemameas (B) 7=
(C) e - (D) TR
Which of the following is a land-locked port ?
(A) Vishakhapatnam (B) Mumbai

(C) Kandla (D) Ennore
54, Frfefaa 3 & waifes el 78 99 2 7

(A) Tl B T
(C) Haqw (D) wEd

Which of the following is the most polluted river ?

(A) Godavari (B) Yamuna
(C}  Satly; (D) Kaveri
24 /A /XII-5006-(33/40) Page 22 / 32
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55.

Arnrgrn e qw A Jrafea @ 7
(A) 9NE (B) &4
() W fres (D) H
In which country is Yokohama situated ?
(A)  Japan (B) Russia
(C) Great Britain (D) China
56. W AG a1 HEvie sraed w1 sfafife s 2
(A) 3094 & W
(B) 203¥ ¥ A
(C) 6094 | HH

D) 15 59 9%

Which age-group represents the working population ?

(A) Less than 30 years
(B) More than 20 years
(C}) Less than 60 years

(D) 15 to 59 years

24 /A [/ XI1-5006-(33/40) Page 23 / 32
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Praffea 29 3 | Read firfafdan s & ST @ 7

A} gAm (B) Tesft

€y wmm (D) T & i

in which of the following countries were Girmitia labourerg
brought ?

(A) Surinam (B) Fij

(€} Mauritius (D)  All of these

fra v =1 SeEE TR weitts R 7

(A)  ofaw @ B) fErR

it

C) &= (D) U

Which state has the highest density of population ?

(A)  West Bengal (B) Bihar

(C)  Kerala (D)  Punjab

e Mifes 1 g 2

(A) WAWA - (B) OmemifeE @
c, ma® (D) T & +I3 T

Patrick Gieddes i1s related to

(A] Canurbation (B) Megalopolis

ICr o Village (D)  None of these
24 "_”_"X”'E’UO(“EHTL Page 24 / 32
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60.

61.

62.

(323

e Tt # @ fre aeren @ watii ] 7
(A) TS — By
() diteg ' (D) gffam W
Which of the following states has the highest literacy raie 7
(A)  Gujarat (B) Kerala
(C) Tamil Nadu (D) West Bengal
fr= & § o dafes FR R ?
(A) IR B) AW
e (D) &
| Which of the following is an educational town ?
(A)  Ajmer. (B) Srinagar
(C) Roorkee (D) Imphal
= § ¥ R T Ide °§ 3l T @ 7

(A) T WCH (B) I W™
(C) T (D) faEw

Which of the following is the leading state in Sovbean production ?

(A) Madhya Pradesh (B)  Uttar Pradesh
(C) Goa (D) Bihar
24 /A / XII-5000-(33/40) Page 25 & 32
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64.

63.

[ 32

(S CL - (D) ffeem
Which is the leading state in tea production ?
https://www.bsebstudy.com

(A)  Gujarat (B) Bihar
(C)  Assam (D)  Sikkim
e A a1y ahagd feg ad gw gan o ¢

(A 1911 (B) 1936

(C) 1947 (D) 1956

In which year was Air transport launched in India ?

(A) 1911 (B) 1936
(C) 1947 (D) 1956
R iRt 7

(A) e Wew | | B) fer
(C) Iq TR (D) TR

Hazira is situated in which state ? -

(A) Madhya Pradesh (B) = Bihar
(C)  Uttar Pradesh (D) Gujarat
24 /A XII-5006-(33/40) Page 26 / 32
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66 HTE TN T R |
(A) TErd (B HAEHH

(C) HEAH D) Ffem #

Mangalore port is sitauted in

(A) Goa | (B) Karnataka

(C) Kerala (D) Odisha
‘67, et oy HrE0 FFE Yoy @ WAl @ 7
: o |
. (B) & TG
(€) ety g (D) e ¥E
Smog is associated with which pollution ?
(A)  Air pollution (B) Soil pollution
(C) Noise pollution (D) Water pollution
63. Prefifaa § @ $)7 waifus g@n ¥4 T4 8 ?
(A) IEH (B) Ufvaw «TA
(C) TR (D)
Which of the following is the most drought prone state ?
(A) Assam (B) West Bengal
(C) Gujarat . (D) Kerala
24 / A/ X11-5006-(33/40) Page 27 [/ 32
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69,

70.

wﬁaﬁtmaﬁ‘ﬁﬁmwmmm%?

(A)

(B)

{C)

(D)

VWEETE
e

- fvaaae
i & = 78

A

What is another name of 'Stop and Go' determinism ?

(A)

(B)

(C)

(D)

Possibilism

Determinism

Neo-determinism

None of these

ITEEET IREd T 9T B R 7

(A)

(C)

L (B)

g
S Ei 4BF T 3 i

Which is a component of populatian change ?

(A)

(C)

Birth (B)© Death

Migration (D)  All of these

24 /A /XII-5006-(33/40)
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wuT - ¥ / SECTION - B
oY I W / Short Answer Type Questions

o= W 1/ 20 wg Iwa ¥ | feet 10 WAt % T & | g % A
2 3w Frafta & 1 10 x 2 = 20

Question Nos. 1 to 20 are Short Answer Type. Answer any

10 questions. Each question carries 2 marks. 10x2=20
| A e A % A R 2
Write the names of two Trans-continental railways.
2. ETEErEmE R R ? 2
What is outsourcing ?
3. B W @ A T wwwa € 7 2
What do you mean by hinterland ?
4, TA-GW YET T ? 2
‘'What is watershed management ?
5. HHHANRFE ? 2
What is free trade ?
& i et e # wm o d 7 2
What is the difference between rural and urban settlements ?
7. Jormt 6t Rufy F T e e @ Fret w1 g N | 2
Mention any two factors influencing the location of industries.

24/ A/ X11-5006-(33/40) Page 29 / 32
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g fave % 2 i smor wE F Tw AR | 2
Write the names of two regional trade blocs of the world.
Q e AW * K- LEd Nl & AW m‘l | 2
Namc four pillars of human development.
10 sl S G & T T W 4 2 2
What do vou mean by the composition of working population ?
Wi ¥ FiR e Q3 % A R | 2
Write the names of two agro-based industries of India.
12 WA o ITSe ThHS & HRON Hl T H | 2
Explain the causes of drinking water crisis in India.
5 Wi ¥ 9N Sren &t % am R | 2
Name four coal fields of India.
12 AR af wR ? 2
What is slum ?
15, TTEE 1 W1 #4918 7 2
What is naturalisation of humans ?
16, WA % gl W wEel % AW iR | 5
Name any four Rabi crops of India.
24 /A /XI1-5006-(33/40) Page 30 / 32
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17, AT T @ A w1 w7 2
What do you mean by density of population ?
18. m%ﬁmmmﬁaﬂqﬁ%mmi 2
Name four ports located on the eastern coast of India.
Z

197 T et 3 2 Juan & A farae |

Write the names of two subfields of Human geography.

2. 'WW@M@WWWW|

Mention the location and importance of Mumbai port.

#d I W9 / Long Answer Type Questions

mmﬁzsa‘lﬁ:ﬁﬁatlﬁvﬁ?ﬁﬂmﬁmmi | UF %

' H e |
3x5=15

fre 5 o fruife €

Question Nos. 21 to 26 are Long
three questions. Each question carries 5 marks.

o1 ua i g it i Rl w5 e BT
Describe the characteristics of green revolution in India.
0o W VYO R T wfw feeqoft faRea |
Write a short note on water pollution.
13, e iy R B R w1 3g@ A |
Mention the characteristics of intensive subsistence agriculoure.
h4,  aqd framedi @1 ol AR |

Describe quaternary activities.
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25, WRE % % e & Yo w0 v o s Rem A 1 s
Give a brief account of the role of rajl transport in the economic
development of India.
26. Wwwmwmaﬁmm S
(@ Tl A .
b R
() I
@ T
() .|
Draw a map of India and show the following :
(a) Narmada river
(b)  Delhi
(€) Jamshedpur
(d) Mumbai
(e) Chennai.
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